Direction : Following questions are based on the five
words given below

1.

BUT SIT AND CuUT BAN

How many letters are there in the English
alphabetical series between the first letter
of the word which is third from the left and
the first letter of the word which is second
from the right?

¢ 3R | FR 9= & UEd 39ER SR T8 IR ¥
TR I P Ut 31&R & ST 31 gofaren ma d
fbe TeR 27

(a) None (b)One (c) Fourteen

(d)Nine (e) Two



Direction : Following questions are based on the five
words given below

BUT SIT AND CUT BAN

2. If the second alphabet in each of the words
is changed to the next alphabet in the
English alphabetical order, how many words

having no vowel will be formed?

It s I § IR &R Bt 35T qufaren ww
W WA &R | g fon sne a9 fHaw = fa=mr
W g §907

(a) Four (b) three (c)Two

(d) One (e) None



Direction : Following questions are based on the five
words given below

BUT SIT AND CuUT BAN

3. If the given words are arranged in the order
as they would appear in a dictionary from
left to right, which of the following will be
third from thr right?
afe fae e Tl 7 DT & SITER S ¥ qe
o0 A afkua fFarseas e A ¥ sla-wr e
3R A Fre=T Bm?

(a) BAN (b) BUT (c) CUT
(d) AND (d) SIT



Direction : Following questions are based on the five
words given below

4,

BUT SIT AND CUT BAN

If the third alphabet of each of the words is
changed to its previous alphabet in the
English alphabetical series, which of the
following will form a meanigful English

word?

Ife WS T TTeX & AR 318 B 371 qufaren
9 A 39> fieer 316~ W s f&an e, aa =
H W fowds g v srefyof sish we &= e

(a) CUT (b) BAN (c) BUT
(d) SIT (e) AND



Direction : Following questions are based on the five
words given below

5.

BUT SIT AND CuUT BAN

If the second alphabet in each of the words
is changed to the next alphabet in the
English alphabetical order, how many words
having two vowels (same of different

vowels) will formed?

e We® T & TR &R DY FUSH qofHre
¥ 3T 378K W dac f3ar Fe a9 & R (|9
a1 fi 1) 9 fa= o S h?

(a) Four (b)Three (c) Two
(d) One (d) None



Directions : In these question, relationship between
different elements is shown is thestatements. These
statements are followed by two conclusion.

Give Answer/ﬁ?ﬁ%lﬂ'
(a) If only Conclusin | follows
afe Faer freef 1 SIgERoT Far 2
(b) If only Conclusion Il follows
afe Faer feef 1 31gaRor Fxan 21
(c) If neither Conclusion | or Il follows
afa a1 at freesef 1o fRreesef 1 srgRROT ARaT 21
(d) If neither Conclusion | or 1l follows
afe 5 & frsef 1 =7 & el 1 SrgRROT TRan
2l

(e) If both Conclusions and Il follows

af2 fresef 1 31k 1 Y srgeRoT A E



6. StatementN=K,D< K,R<K

Conclusions.|.D=N I.L.N>D



7. StatementF<M,M>R,K>F

Conclusions . M> K II.R >F



8. StatementH=K,T<H,W<T
Conclusions 1. K> WILT < K



9. StatementN>A,A<L,F>M
Conclusions 1 .L>FIl.F> M



10. Statement:B<D, D=M, F>M

Conclusions. I.B<M il. F>B



Directions : Read the following information carefully

and answer the questions given below it.
Seven friend Kamla , Manish, Rohit, Amit,
Gaurav , Pritam and Priya are sitting in a
circle. Kamla, Manish , Rohit , Amit , Pritam
and Priya are sitting at equal distance from
each other. Rohit is sitting three places right
of Pritam, angle of 90 from Gaurav and an
angle of 120 from Manish. Manish is just
opposite Priya and is sitting on the left of
Gaurav.

Fik firar v ga & IRI 3R 83 F| BHeT, Wi,
e, i , shaw ik i o TR- ¥ /R
o ) 3 gl Afea, haw & @ IR =\ w®
dor1 8, 3 31fia & vH RIF T 3R dor 7l
DHAT, TTRA ¥ 90° BT HIUT AAT AN A 120° BT
Do s 2 e fiar & e fawdia & aen
ke & o AR AT 2



11. Who is the only person sitting between Rohit
and Manish?

9% U Jfaa o 2 31 Afga iR weiiw s dia &
dor @7

(a) Pritam (b) Amit (c) Gaurav
(d) Kamla (e) Priya



12. Gaurav is sitting at equal distance from
Tika = & ARl ¥ aR1eR T o) T dor 29
(a) Rohit and pritam
(b) Amit and Kamla
(c) Manish and Pritam
(d) Kamla and Rohit

(e) None of these



13. Gaurav is sitting....of Priya.

(a) to the immediate left
(b) to the immediate right
(c) two places right

(d) four places right

(e) None of these



14. The angle between Gaurav and Manish in

the clockwise direction is

eféoned Ren A ik e v e s fasroord
(a) 150° (b) 180° (c) 210°
(d) 90° (e) none of these



15. Which of the following statements is not
correct?

fFrafoiRea # @ oF-ar To= O =& 8v

(a) Pritam is between Manish and Kamla
(b) Manish is two places away from Priya
(c) Gaurav is sitting places opposite Pritam

(d) All of the above



SOLUTIONS

(b) First letter of the third word from left is
"A" and the first letter of the second word

from the right is 'C'. Hence, in the English
alphabetical series only one letter (B) is
between A and C.

(a) Words so formed are

BVT SJT ADO CVT BBN

(b) Words will appear as follows

AND BAN BUT CUT SIT

(c) Words so formed as

BUS SIS ANC COS BAM

Only BUT will form a meaningful word.

(d) Words so formed are

BVT SJT AOD CVT BBN

Only one word contains two vowels.



10.

(3) Statement D<N =K >R

Conclusions |. D= N (May be true)
II. N> D (May be true)

~.Either Conclusions | or Il is true

(4) Statement K >F <M >R

Conclusions |. M > K (False)
II.R>K (False)
(5) Statement K=H>T>W
Conclusions |. K> W (True)
. T< K (True)
(2) StatementF= N> A<L
Conclusions |. L> F (False)
I.F> A (True)
(2) StatementB<D=M<F
Conclusions |. B <M (False)

Il.F> B (True)



12.

13.

14.

15.

Pritam

Amit

Priya

Kamla

Gaurav

Ronhit

(3) Gaurav is the only person who is
sitting between Rohit and Manish.

(5) Gaurav is not sitting at the equal
distance from any of the given pair
of persons.

(4) Gaurav is third to the left of Priya
and he is also fourth to the right of -
Priya.

(5) The angle between Gaurav and
Manish is 30° in clockwise direction.

(4) All the given statements are not
correct.



